14/11/13
THM 348 Service Operations Management
Midterm Exam
1. Contrast the “Push” versus “Pull” theories of innovation. Provide one example illustrating / clarifying pull theory. (2 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
2. Describe the service package of “Le Piment Rouge” restaurant, a fine dining practice restaurant situated at School of Applied Technology & Management building? (2 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
3. One challenge that service firms face is that they are competing in a difficult economic environment. One reason for that is “Product Substitution”. Could you briefly clarify this difficulty? (2 Points)
-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
4. “High divergence is a strategy that seeks out customers willing to pay less for the standard product / service”. Do you agree with this statement? Why? Why not? (2 Points)
-------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
5. Contrast “Technology-assisted service encounter” to “Technology-mediated service encounter”. Provide an example illustrating technology-mediated service encounter? (2 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
6. “Service Guarantee shall promote an understanding of the service delivery system”. Do you agree with this statement? Why? Why not? (2 Points)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
Good Luck
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